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PK, uoe>/bacls d>g)iall

1,3 HCf,C—COOH/HC¥, — C0O0™
2,9 H,C¢C — COOH/H,C#C — COO~
3,8 HCOOH/HCO0O0~

4,8 CH; — COOH/CHC00"~
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.Cs 0_')..1_5).)'_9 V=500 mL dox> Sg
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Va =100 ML axxl dslas] sic syleall Jeloi) (ol paail 33>-6

[CHSNHZ]eq

Vs dpill s e yic @ Va 10,0 ML el @5Ls] ate B 38,0l A o PRa s PH Ay ue-7
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M(H) =1g.mol™'; M(C)=12g.mol ! ; M(N) =14 g.mol™?!
5 el

. C toligally oy sillg AH o CeHgOg depall 93 clygSall yaax) joy

- ddanall o gly sl clgall go yoys o C puolinall AiS a3y

D dos

pKa(H20/HO)=14 . pKa(H30*)=0 . pKa(AH/A)=4 . M(AH)=176 g.mot"
25°C aic Ke=1,0.10™

ostedl calsll Wil dabhio
Juiall yosl 4,2-6,2
Jsedgogydl )l 3,0-4,6
Jop Sl el 7,2-8,8

TelmidTice.com

Glilata) = Gubal = (g Soutien Scolaire ol eeudl


www.telmidtice.com

(poedgeall 1pwSgyau0) rguall Jglxog luygSuwll yaaz) (ilell Jolxall Jelai duwl)s-|
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